—

7

Thus, HCI1 Wyt 3)

.
r + 3\

Q.15 3542¢'h, 45a%ch?, 30acih’

Sol:

Factorization of — 35a’¢’y =5 | = 7% a|*axcx Jc|*c>

Factorization of 45a'ch? = §1x3xAx | g {xaxax [¢| *

Factorization of  30ac?b? - §|*2=3x | X |c |*c”

h

Common factors = 5, a. b, ¢

Thus, HCF -Sxaxhxc

Find the HL.CF by Division Method.
Q.1 A+ VLt e+

Sol:

Take common ¥ | v - ¥ +x

-x+ 1| +x o+ I{7<":’<“* !
X -x'+x
X + 1
_I.:I:t | §
-r':-—; + |
txr-xt I
0

HCF =x -x+ /]
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Q_z_ X *7\‘"9.\""2.31{‘*(N‘.—IS\.")'\"2

Sol:
| 4y + 5
60"+ 70~ Ov + 2] Bx' 4 6x' — 154 + 9 - 2
x3 multiply by 3

245" + 18x' - 45x" + 27x - 6
_24,1" + 28y = 36y + 8x

10" = 9x" + 19x - 6
x(-3)

30x" +27x - 57x + 18
+£30¢" +35¢" £ 45x + 10

—4|—8_\‘3— 12¢ + 8
]

w
| v -1
2¢ + 3y - Z[ 6x +7¢ —9x + 2
+6x" + 9 ; 6x

HCF =27 +3x-2
Q3 4420 -6x, 4 - Bx+d
2| a4+ 2¢ - 6x  4[4x' -8x+4

- ] i
2v +x - 3x x = 2x+ 1

Sol:
Now we find HCFof ¥ -2x+land 2x' + x* - 3va n d

HCFof2 4152
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D]
i
.._.1‘ ! -’n
v Pl G _X +:-JI
y PO _
¢ 2 v+ 2
X4 x-E} - 2v 4 |
* .
_r+2ri +x
-x + 1
-1
-+ | T Ayr-2
i v -1
- +
t—l) -x + | k-Jrsl
;.l‘ + X
-x+ |
;xil
0

Required HCF=2(x- 1)

Q4 M+ 7F+ 12, -2 -15x

Sol

X o T+ | 2y x|t =-2¢0 - 15x

| @+ 7c+12 |2 - 2x- 15

HC.Folxand xis x.

Nowwe lind HC.Fof ¥ = 2x - 1Sand ¥ + 7x + 12
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1 I7\+|:[

X =-2v-15
s 0+ Ta+ 12

- N -9y - 27

Required HCF

. b
Q8 x'-xt-x+l,

Sol

1 b’
_r—x~x+l[

Required HCF - X'

Q.6
Sol:

1+3r+x ~i»7!.+|’(“‘f1
+r &11

+ 4y + |
+ 4y + |

0

2
¥

- a{v + 3)

-2+ -1

x-1
- 2x' +2 ~ 1
4 2

;-1_

—_r" +.r) +x—1
‘ '.‘ ‘-—
CAx x|

e
0

2 -x+1
= (x=1)- Nx-1)
= (v = 1) x=1)
_;Pxf—(Hq(r—H
— (v =T x+I)x-1)

- (x+ =1

-xt-x-2, F+3F-6x-8
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, )|
.f—x’-:—2[-ﬁ+1ﬁ‘ﬁx—8
11’12 .rz;: EF32
4x2~5x—6' X’-x'-x-2
x4

]

v

4’ -4x  —4x-8(x
+4x’ F 55 F6x

428 4x-5x-6 [4
+4x’ +Rr ¥ 32

—131-135 426
x-2

4x’ -5x-6

v
x+4
1‘2{ x*+2x-8
tx’ F2x
4x-§8
+4x ¥R
0

Required HCF = x -2
Q.7 4+3x-4, O -2 -2 +3

Sol:
~x-$5

) bl
. . I TN
N 4+3r-4| X -2 -2x43

*x +3x7 74x
-5x"+2x +3
S5 F15x120
17] 17x-17
7x—l[.f+3:~4(x+4
ixzx X
4x-4
t4x ¥4
0

Required HCF =y - |
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Q8 ' = 14 + 90+ 10, 18 - gt + 210 - 10
Sol
5

I =LA 9 0 1Sy - i-i,\: +2|x - HE'
£15v F 702 £45v 450

12 | 3627 - 24x - 60

Iv-2x-5 | IV =]+ 0+ H!Lt-J

| 37 F 27 F 5x

: _
=12+ 14y +10

F12:5+ 8v 420

‘ZI()J(- 10

3v=5
|

Required HC.F =3x -5
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Vrdrdv 2,00+ 5 2t H 3 i+ 20+

Sol: First we will find the HCF of 22 + ¥ + 4v + 2 and
2 e 3t 2|
l
2t e an e 2 [ s 30 2 2l
£ ¢ t 4x +2 X
20 42 = 20- | | 420 Haxe2y]
| 27+ F 2 F
2t viyr)—
\ |
%2
L e B R e
£ 2vT 4507 +2y '
B T e
F4-FI0vF4
3 fer+3
CHCTF e+ [ 0+ Sx ._I' -
+2¢7 ¢
dy+2
t4yv+2
0
Now wewill ind HC Fof2x + | and 6 ' +5x° +x
3.1’"' +x
wrl [ 6 vF5c+x
t ﬁ_‘\J - 3_\':
2+ x
+ 27+ x
o 0

chtlil't'.‘d IICI: = ZX + ]
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QI W+l =8v+3, M -Tv46, P H2E-20 43

Sol Fistwewill findthe HCF of ' = 7v + 6 and X
- Sx +3,
!
=Tt 6 4t - S+ 3
1-“ Filx+ 6 x =2
Y4+2r-3 | P -7+ 6
£ 0 20 F 3
T2t 4c+06
0
Nowwewill ind HCFof ¥ +2x-3and x* + 22 + 3.
x
v 2\-3l V42 -2x+3

e e 2 Fx - |

x*73 1 v A2r-3

+ %+ 3

HCr x+3

lcast Common Multiple (LCM)
The least common multiple of two or more algc-bmi.c
expressions 1s the expression of lowest degrec which 1s
divisible by cach of them without remainder. o
The abbreviation of the words least common muliiple 1s

LCM
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